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LAW
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which among the following is not a fundamental right ?
(A) Right to Privacy (B) Right to Speedy Trial
(C) Right to Clean Environment (D) Right to Property

2.  The president shall revoke a proclamation of emergency if the house of people passes a
resolution disapproving the proclamation of emergency by a :
(A) Majority of total membership of the house.
(B) Majority of not less than two third of the house present and voting
(C) Simple Majority
(D) Both (A) and (B)

3.  Decision in D.K. Baru’s case relates to :
(A) Dowry Death (B) Murder
(C) Sexual harassment at work place (D) Arrest
4.  The supreme court is a court of record means :

(A) It has the powers of a court to punish for contempt of itself

(B) Its judgements are binding on all courts

(C) It has got powers to pass orders for enforcement of its own judgements
(D) Full faith and credit shall be given to all its judgements

5.  Original jurisdiction of the supreme court means that it has got jurisdiction in any
dispute :
(A) Dbetween the Government of India and one or more states

(B) Dbetween states on inter-state river water

(C) Dbetween two or more states

(D) both (A) and (C)

6. In Maneka Gandhi's case the supreme court held that the procedure established by law
must be :
(A) fair and reasonable (B) fair, just and reasonable
(C) fair, just and equitable (D) duly enacted by legislature

7.  In which case the supreme court held that secularism is part of the basic structure of
the constitution of India.

(A) Minerva Mills Case  (B) S. R. Bommai’s Case
(C) S.P. Gupta’s Case (D) M. C. Mehta’s Case
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10.

11.

12.

13.

14.

15.

16.

In the matter of appointment of high court judges, the CJI is required to consult :
(A) Two senior most judges of the supreme court

(B) Two senior most judges of the concerned high court

(C) The chief justice of the concerned high court

(D) Governor of the state

Fiction theory is related to which one of the following concepts :
(A) Legal Personality (B) Ownership

(C) Liability (D) Justice

Jurisprudence is :
(A) the systematic study of nature (B) lawyer’s extroversion
(C) study of Government’s behaviour (D) None of the above

Right and duties exist :
(A) together (B) separately
(C) opposite to each other (D) complementary to each other

“Liberty is without independent jural significance” was propounded by :
(A) Hans Kelsen (B) Duguit (C©) Rosquo Pound (D) Mill

“A legal system is only the sum total of laws and that one only needs to identify a law”
was propounded by :

(A) Bentham (B) Austin (C) Salmond (D) Ihring

The difference between judicial and legislative creativity has been that “The creative
power of the court is limited by existing legal material at their command. They find the
material and shape it. The legislature may manufacture entirely new material” was
stated by :

(A) Ehrlich  (B) Rosquo Pound (C) Kelson (D) Savigny

International law is :
(A) Collection of legislations of various countries.

(B) Body of rules and principles of action which are binding upon civilized states in
their relation with each other.

(C) Collection of customs of various countries
(D) A legal instrument in service of domestic policy

International treaties are the most important source of :
(A) Environmental law (B) Cyber Law
(C) International law (D) None of the above

J—5806 4
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16.
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Estrada doctrine is related to
(A) Mexico (B) Spain (C) Portugal (D) Grenada

“Uniting for Peace Resolution” came into being in the year
(A) 1949 (B) 1950 (G 1951 (D) 1952

The Savarkar (1911) case is related to :

(A) Rights of revolutionaries

(B) International obligation of fighters for independence
(C) Terms and conditions of sea law

(D) Terms and conditions of the extradition treaties

Article 23(1) of the UDHR corresponds with which article of the Indian constitution ?
(A) Art. 41 (B) Art 39 (d) (C) Art. 43 (D) Art. 38

Section 19 of the Protection of Human Rights Act, 1993 provides protection to
(A) Police (B) Army (C) Navy (D) Allofabove

The convention on the right of child came into being in the year
(A) 1988 (B) 1989 (C) 1990 (D) 1991

Marriage under the Hindu law after the Hindu marriage (Amendment) Act, 1976 is :
(A) Purely a contract (B) Sacrament
(C) Sacrosent (D) None of the above

Single ‘act of adultery’ is a ground for :
(A) Judicial separation (B) Divorce
(C) Both (A) and (B) (D) None of the above

A and B petitioned for divorce by mutual consent. After the expiry of 18 months B
withdrew her consent and refused to appear before the court. Choose the correct legal
position.

(A) B has a right to withdraw her consent

(B) B does not have the right to withdraw her consent

(C) Divorce is complete

(D) None of the above

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R), with the help of codes given below, point out the correct explanation.
Assertion (A) : Marriage under the Hindu Marriage Act, 1955 is dissoluble.

Reason (R) : Marriage is a sacrosant Union

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A)is true but (R) is false

(D) (A)is false but (R) is true
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.
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27.

28.

29.

30.

31.

Match items in List-I with items in List-II using the code :
List-1 List-1I

(a) Marriage during Iddat period is (i) Voidable
(b) Marriage with an impotent person is (i) Valid

(c) Marriage below the age of 18 years is (iii) Voidable
(d) Marriage with a person of unsound mind is (iv) Voidable

Code : @ @) () ()

(A) @ @) @3 @)
(B) @) (@) (@v) (i)
© @ @) G @)
(D) @) @) @ )

In which of the following case, the High court held that ‘the presence of Qazi is not
necessary at the time of marriage ceremony under the Muslim law” ?

(A) Qazi Mohd. Najmuddin Husain V State of A. P.
B) Mohd. Yunus V Malooki

) Shamim Ara V state of U.P.
D) Bai Tahira V Ali Hussain

Read the following passage and choose the correct option :

In the case of Mc Gregor V Mc Gregor, (1888) 21 Q. B.D. 424, the wife withdrew her
complaints as the husband entered into an agreement with her on the condition that if
she withdrew her complaints and refrained from pledging his credit, he will pay her
an allowance.

(A) The agreement is a social agreement and is not binding
(B) The agreement is a family agreement and is not a contract

(C) The agreement is based on love and affection and is binding

(D) Parties had the intention to have a binding contract between them

Some, all or none of the following statements are correct, answer using the code :
(A) Consideration is the recompense given by the party contracting with the other

(B) If the promised act has been done before the agreement is made, it is past
consideration and past consideration is no consideration.

(C) Consideration should be something which has some value in law
(D) Consideration may not be adequate

An infant who obtains loan by falsely misrepresenting his age can be made to repay the
amount :

(A) Asif he never entered into the void contract

B) The contract is void so he is not liable to repay
) He is liable because of the fraud

D) The contract is valid
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28.

29.
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32.

33.

34.

35.

36.

37.

38.

39.

Mistake of both the parties about subject matter renders an agreement :
(A) Voidable (B) Unavoidable (C) Void (D) Valid

Arrange the sequence of following concepts in a contract. Use the code given below :

(i) Damage (i) Damages

(iii) Undue influence (iv) Invitation to offer
Code :

(A) @ @) () (v)

(B) (v) (i) (@) ()

(€ (@v) @) @ ()

(D) (@v) @) (@) ()

Principle of law in Hadley V Baxendate related to :
(A) Quasi - Contract (B) Fraud
(C) Special Damages (D) Unjust Enrichment

A hazardous or inherently dangerous activity can be tolerated only on the condition
that it indemnifies all those who suffer because of the dangerous activity. The above
statement pertains to :

(A) the principle of strict liability

(B) vicarions liability

(C) absolute liability

(D) principle of negligence

In contributory negligence plaintiff is injured because of the wrong of :
(A) The plaintiff (B) Plaintiff as well as the defendant
(C) Defendant (D) None of the above

Choose the correct statement out the following “volenti non fit injuria” means
(A) A specific tort

(B) Isa good defence if injury to risk is consented

(C) Isagood defence if there is knowledge of the risk
(D) Is a good defence in cases of rescue

Select the correct code for the following statement :

To protect himself and his property

(A) Law recognises the right of self-defence

>

(B) Law does not allow any such right

(C) One should go to the police station

(D) Use of force for whatever object is not allowed

The principle of Novus actus interveniens applies to determine :
(A) Vicarious liability (B) Remoteness of damage

(C) Strict liability (D) Act of God
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33.

34.

35.

36.

37.

38.

39.
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40.

41.

42.

43.

44.

45.

For the negligence of skillful and qualified persons such as doctors or engineers an
employer is liable even though they are not under his control. The above statement is
in reference to the tort of :

(A) Strict liability (B) Negligence
(C) Vicarious liability (D) Damnum sine injuria

A entered a house to commit theft. Old lady living in the house saw the thief and
shouted for help. Neighbours collected near the house and caught hold of the thief
who was trying to escape. The neighbours gave the thief beatings with fists and lathis.
The neighbours are liable for :

(A) Similar intention (B) Common intention

(C©) Unlawful assembly (D) Conspiracy

Which on of the following statement is correct ?

(A) Abetment of an offence is an incomplete offence
(B) Abetment of an offence is a continuing offence

(C) Abetment of an offence is a complete offence

(D) Abetment of an offence is an offence depending upon circumstances of the case

A village Vaidya used to successfully operate wounds with shaving blade. Victim who
was suffering from piles was operated with shaving blade by the Vaidya. Due to
profound bleeding, the victim died and the vaidya was prosecuted for causing death of
the victim. If you are a defence counsel under which of the following sections of the
Indian Penal Code you can defend the Vaidya.

(A) Section 87 (B) Section 88
(C) Section 92 (D) None of the above

During the murder trial it was proved that the murder was committed by six persons.
Out of the six accused persons, identity of two accused persons could not be verified.
Hence the two accused persons were acquitted. Rest of the four accused persons claimed
acquittal. Point out the correct answer in determining liability of the four accused
persons.

(A) Shall be liable u/s 302/149 of the Indian Penal Code
B) Shall be liable u/s 302/34 of the Indian Penal Code
) Liable for negligence

D) Shall not be liable for murder

The maxim “ actus non facit reum nisi mens sit rea” means
(A) Prohibited act constitutes an offence
B) Guilty intention of the accused constitutes an offence
) Neither guilty intention alone nor the prohibited act alone constitutes an offence.
D) Prohibited act followed by guilty intention constitutes an offence

J—5806 12



40.

41.

42.

43

44

45

Furet 31R 1 =t S foF et a1 SRR Y SUen & fore fame <t Bt § IR 9 S5
ez | 7 oft 3 | SRs fafiad weF frg s F e # ©

(A) R T (B) 3uam

(C) wfaffaes e (D) SHTH HEA Sfe

T T F T W TH W Y9 1§ R ® @ I 3R ¥ =GR Rl TR Tl
ToTe FeemT g% o a1 | =R TSieleh TS $ohad B T | 38i- YR i ShifeeT hid §T AR

Tehel IR SH Yok IR afedi | dier |
(A) HHM 3™ (B) WM YA
(C) fafy fowg SHE (D) weHd

2

frfafed § @ S @ Fu 9@ ©

(A) ST T TR Th YU T §

(B)  3TUE T TERYT Tk Had ST §

(C)  STIUY T THROT Teh U1 ST §

(D)  T9UY T FHROT FehaoT ot uffeerfaedi w feft e arem ey 1

Teh UTHIOT A o1l i =Sl WIE] TSHd oM aTel &€ H |Therdl Jaieh il o | Th SAfd Sl
a1 R @ SN ¥ difed o soe | SUReE fohen e | STty W T & o 9 difed @i
Tog 21 TE AR 9% i ifed it gog & faw stfiefsa feman w1 afe et se qet o dente §
ql R SUe Higdl i fohe 90 o ST SHhT 9=1d bl

(A) ¥ 87 H (B) N 88 H

(C) = 92 #H (D) 3Swded H & foheht o =&

B & faamor § =7 fag & o % gcn ©: =nfedl g & T €131 B At H |
SRl sl Te=™ 1 gfE el 8 9| oTd: &1 e safaEl ki Qrhd s fea | o a R
STPgal A SSHE T T S YA TR | SR S1fagehl o it feion & o foaa vt
ST I 3R HIE fo & Al

(A) 9IRS gUe Gfed H U 302/149 F qed SRR §

(B) IRdd gUE wWifgal st &R 302/ 34 % T&d IR §

(C) 3Uam & ford foier &

(D) & & o forier = §

" el M e fom et fa fae fan'! 3faa & aerd ©
A)  fafug w6 @ smauy w1 fmfo S &
B) 3TURIEt o1 3R W 79w k1 Fefor S ©
) Afadh Tqueh w1 geme SR 7 fatk ffug el | ety w6 fmior g §
D) fHforg ol o faer & et 9 arowry ot fmfor S €

J—5806 13 P.T.O.



46. In which one of the following cases, the supreme court had held ‘Bandh’ to be
unconstitutional:

(A) L. Chandra V Union of India (B) Prabhat Kumar V State of Kerala
(C) Raudher Kumar V Union of India (D) None of the above

47. Right to education is a fundamental right under Article :

(A) 21 (B) 20 (C) 21A (D) 19

48. In which of the following case the supreme court recognised the theory of “Hire and
Fire” in labour law ?

(A) The steel Authority workers” Corporation case

(B) The Air India Authority Corporation case
(C) Mohini Jain case
(D) The Gujrat Electricity Workers’ case

49. Strike is a legitimate right in the hands of :
(A) The employer (B) Workmen
(C) Both (A) and (B) (D) None of the above

50. Lock-outtois:

(A) anti-thesis of strike (B) anti-strike
(C) equal to strike (D) none of the above
-00o0-
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46

47

48

49

50

T arel o 9 forg e a1e | SeuaH e 3 9’ i TS =ifa e

(A) T =51 oM 9 HY (B) UWI FHHR FAM Hd T4
(C) THR FHAR S YR 94 (D) ST ¥ § &5 off 7

foren =1 StfuepR Hifersws AR T srg=ee

(A) 21H (B) 204 (Q 21(A)H (D) 19H

gu fafy # f1=1 9 9 for are # a9 =mmer 7 2RR IR weR' % fagr 1w <
A) A AN ghd HIEREE & A |

B) TR sfean SAeifel ShUieM < Al |

C) et S % amet |

(
(
(
(D) TSI TSI ghd o HHS H

B foer wredi o fafer worq erfuem ®

(A) T (B) HH®R

(C) (A) R (B) M (D) SRS H I HE Tl

e ST 9 qed §

(A) TSard o faiEmTe (B) TeaIdl o fowg

(C) T=aTd & HHHE (D) 39%d H | HIE T
-00o0-
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